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If morc than one answers are marked, it would
be treated as wrong answer.
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Sheet. 5 marks will be deducted for filling wrong

or incomplete Roll Number.

Warning :
any unauthorised material is found in
his/her possession, FLR, would be
lodged against him/her in the Police
Station and he/she would linble to be
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1 From a histrogram we can find

(1) Airthmetic mean (2) Median

(3) Mode (4) Harmonic mean
g B E e @ W e W w3

(1) wH=x A (2) witEenr

() S @ e T

2 In a set of 6 observations 8, 12, 40, 15, 35, 25 the value of median is

1) 20 2) 15
3) 40 (4) None of the above
nell B SO 8, 12, 40, 15, 35, 25 F wigw @1 WA 2

(1) 20 2 15

(3) 40 @) ST W ¥ wis W e

3 The ideal measure of central tendency is
(1) Geometric mean
(2) Mode
(3) Arithmetic mean
(4) Median
FEE Ygha &1 eyl ug ¥
(1) TR W
(2) FTDd
(3) AT Wi
(4) itz

4 Statistics deals with

(1) Qualitative data (2) Quantitative data

3) (1) and (2) both (4) None of (1) and (2)

witersl R & Iwm w5 @

(1) TP GHD (2) ¥WEHR B

() (1) &R (2) @ () 3T (2) & A q B T

OP19 Al 2 (IR (Contd...



5  Which measure of central tendency is least affected by sampling fluctuations ?
(1) Median (2) Mode
(3) Arithmetic mean (4) Harmonic mean
Rrer A ¥ B BT gt & AT GREEH JoomEe ¥ FH ¥ B geed
BT ?
(1) izt (2) g
(3) WAL HEe (4) TUHD HIHA

6 The mode is defined as
(1) Highest frequency
(2) Largest observation
(3) The observation with largest frequency
(4) None of the above
qga@ H ureniE fEn SR 3
(1) Gaifte IrEaRdE
(2) waifs Y&
G) e Trgd SRERA wEbivE ©
@) wudem ¥ § Bg

7 A class of 24 boys and 16 girls is given a test in statistics, the mean marks
obtained by boys and girls respectively are 15 and 10. The mean of the
whole class 1s

(1) 125 (2) 13.0
(3) 135 @) 14.0
24 B Ug 16 B @ Hen ®1 TH Gikegat TREvl e W el uensi
¥ uTATE BT G W W G A 15 T 10 ¥ @ qft hen & e
(1 125 2) 130
(@) 135 (4) 14.0

8  The geometric mean of 40, 50 and x is 10, then the value of x is :

1 1 2 2
1
() 4 ' @ 3
4 Teol 40, 50 T x aargvﬁm_mszr 10 ¥ 9t x &1 9F BN
1 1 2 2
]
(3) 4 @ 3

OF19_A] B (AR tContd.-..




9  The weighted arithmetic mean of first # natural numbers, with weight being
the corresponding number, is

(1) % () (n+1) 2) % (2n+1)

(3) %(n+l) 4) %n(n+1)(2n+1)

e p welie demel & Wi e, wahp s YR S (@) d'R
g, B

N % (n) (n.+ ) _ (2) % (2n+1)

(3) % (n+1) @) % n(n+1) 2n+1)

10 Which of the following is an objective of classification ?
(1) To condense and simplify the data
(2) To bring simillarities and dissimillerties
{(3) To help comparison
(4) All the above

affad & & il 1 SENT BN-WT &7

(1) 91wl B X ud Gt wmen

(2) st W TIMAR we el # wela won
(3) AN q "erdE B

(4) SoE w

11 If F(x) 1s the cumulative distribution of a random variable then for which

3
value of x F(x) will be — ?

4
(1) First quartile (2) Second quartile
(3) Third quartile (4) Mean
afg F(x) Tedt agfes o x &1 4o 9e7 wem ¥ W fR9 x & AW
% W F(x) = % ?
() W aguw @ e ugew
() i =gdm @) e

OP19 Al - 4 [ 1coned...



12

13

14

The observations of height of 25 students of Class V are taken. If the height
of a 6 feet teacher is also included then which measure of central tendency
is most affected ? -

(1) Arithmetic mean (2) Geometric mean
(3) Harmonic mean (4) Median

@uﬁﬁmm%zsmﬁa&“ﬁé%ﬁwﬁﬁaﬁ%laﬁwﬁégﬁ
T A oh o B FaR N bW & @ S @ e ggra
& uet § ¥ BF-u W gEd SIEr yetea g ?

(1) Tt A (2) UK A
() wIHD WA (4) wftget

The arithematic mean of two numbers is 5 and their geometric mean is
4. Then the numbers are

(1 6.9

@ 6, 2)

3y @49

(4) None of the above

& werel & G WET 5 T qOReT e 4 ¥ A g ¥ o
1 63

2 5,2

G) &4

@ wudEw § ¥ w5 0w

Which of the graphical method is used to find mode ?

(1) Pie diagram (2) Frequency polygen

(3) Ogive curve (4) All the above
Wﬁwwﬁﬁﬁﬁﬁ?—@r%@ﬁﬁfﬁwﬁﬁﬁaﬁ%?
1 wE f (2) IRERAl TGS

(3) TR @h (4) wuE wW

OFP15_Al > RABU IR tContd...



15

16

17

18

From a less than Ogive curve which of the following can be determined ?

(1) First quartile (2) Second quartile

(3) Third quartile (4) All the above

HAA A0 6 ¥ ¥R Rew Freatwied @1 A S @Y g@wd €7
() vaq ages @ f=hg agds

) T wgds @) S wd

The relative frequencies in a histrogram are proportional to
(1) Height of the rectangle (2) Width of the rectangle
(3) The diagonal of the rectangle (4) All the above

s o R ol onifée sreana Reee ol eelt ?
(1) e @ SO % (2) Sl B AR
(3) omgal & fawet % (@) IulEs g

When the observations are equal the relation between AM, GM and
HM is

(1) AM=GM=HM

(@) AM <GM < HM

() AM >GM >HM

4) AM <HM <GM

i W WEOT UH 99 ¥ O 9L AL, ON. WL @ 5. AN BT e e
(1) 9. WM. = o0 A = % .

(2) W AL < YON. WL < F O
(3) . WM. > TON. W > & AL
(4) 9. W < % UL < IEN. T

The mean deviation of observations is minimum when they are taken from

(1) Zero (2) Mean
(3) Median (4) Mode
Tl & AW e gEan em Ak Reew woaw wmn
(1) = () = T
(3) e (@) g

OP19_Al 6 [N tcontd...



19  Standard deviation is minimum if deviations are taken from :

(1) Zero - (2) Mean
(3) Median (4) Mode
s frEed gead oA Reew @ o\ T d
1 I (2) wHX AT
(3) wE® @) EAD

20 Which of the following measures of dispersion depends on all the
observations ? '

(1) Standard deviation (2) Mean deviation

(3) Coefficient of variation (4) All the above

frer AT WO a- Wy wee dae ) feR s ¥ o7
(1) =uFe Ree= @) = fraes

(3) Trage PIe (@) sulE w4

21 For any discreate distribution the standard deviation is
(1) Not less than mean deviation from mean
(2) Less than mean deviation from median
(3) Equal to mean deviation from mean
(4) Not less than mean deviation from zero
fpdl orEad e % ANG fOEEE AW
(1) e A W Rrews % WM ¥ B T8 8
(z)m&am%wﬁmwﬁaaﬁ%am%wm
3) mer § W wieq ReeE % AW % SUER B
@) sﬁﬁrnﬁmmﬁaﬁmé‘ﬁnﬁ@rwﬁ@m

22 Which measure of location will be suitable to compare sale of shirts with
different collar size ?

(1) Mean (2) Mode

(3) Median ' (4) None of the above

i weRl % A $ mﬁﬂﬂﬂ?ﬁaﬁﬁﬁ?ﬁwiﬁﬁaﬁ%w
ygft @ BE-E A SegE e

(1) gHET WA (2) wga®

(3) RSl @) R § @ W Al

OP19_Al 7 ~ |WAUTRRNEARARY RContd--



23

24

25

If two independent series of observations are to be compared, which is
most suitable measure from the following ?

(1) Standard deviation (2) Mean deviation

(3) Range (4) Coeflicient of variation

aft daell B & e A W e By 3 Prefed ¥ ¥ B
a9 eifyeam SugeE T ? |

(1) wFw Raes 2) e e

() WER @ o s

The coefficient of vartation has

(1) No unit

(2) Same as unit of mean of observations
(3) Same as unit of observations

{4) Same as unit of variance of observation
oo Tonies @t

(1) ®E§ 3% @& e ¥

'(2) IHE AT W IBIE B U SRl B

(3) GBI W THE & T TR T
@) wHn & fguEs @ 3P § AN B 3|

The width of class interval depends on

(1) The range of data

(2) The number of class interval to be made
{3) The type of data

(4) All the above

T B eE R E ¥ o
(1) ¥H&H & TER Y
(2) fomm ot oroOw TE R, 9E W
(3) HR F FHR W
(@) SE gW W

OFd_ AL - 3 IRMATIEN tconed...



26  While classifying the data into different class intervals we should take care of
(1) Number of class intérvals should neither be large nor small
(2) No open ended interval as far as possible
(3) Characteristic of the variable

(4) All the above

Wi & TiE ¥ TN 39 96 @l @ Y@ a6
(1)mﬁa¥rﬁwmﬁmﬁmm

@) @0 % o ga

@) =X @ fadarei

(4) SudEm gl

97  To make continuous class interval of a discreate data

1
(1) We subtract 2 from upper limit

1 -
(2) We subtract 5 from lower limit

1 _ .
(3) We subtract 5 from lower limit and add half to upper limit

1
(4) We subtract 2 from upper limit and add half to lower limit

e c e TG 1 oy T R 1 O G O

M aﬁﬁmﬂ@nmﬁﬁ%aaﬂ%
@) aﬁa%ﬁaﬁﬁxhqﬁﬁ@r%uaﬁ%
3 aﬁaﬁﬁaﬁrﬁmﬁﬁ%%m%amm@qmﬁ%ﬁgﬁ%

@yt Pl o A 5 s ¥ e sl e @ R b

OP19_A] ? [NCEATHINRINY tconed...



28 Whether classification is done first or tabulation ?
(1) Classification follows tabulation
(2) Tabulation follows classification
(3) Both are done simulteneously

(4) None of the above

THHOT TEA BT T b WKW ¢
(1) i@, qreles % 9) ox @
(2) WG, FHOT & I8 AW 3
(3) TAl um "Wy R W ¥

4) S ¥ ®y A T

29 The mean of a series of observations is 10, its coefficient of variation is
40%. Then the value of standard deviation is :

(1 4 (2) 8
() 12 (4) 10

iy gHm! ® wh 9ol @ Wied 10 9l S faever uie 40% ¥ af
IGEl A Rraws e

1 4 2) 3
Gy 12 @ 10

30 Which of the following measures is not based on all observations ?

(1) Mean deviation | (2) Standard deviation

(3) Range - (4) Al the above
frafafas & ¥ sF-@ 70 e @R 9 ol @ s ?
(1) we frae @) wFH e

(3) WX (4) Suled ot

OP19_Al 10 [AERIRMR (Contd.-.
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31

32

33

If two numbers have AM and HM as 10 and 5 respectively then their
GM is . '

10 10%5
W = 2) 7

5
G 1 @ J10x5

& g @1 SRR Ud EOE W HEeE 10 Td 5 ¥ @ SEe IO
Ea1 7 L 1

10 10x5
1 = (2) >

5
3 10 @ Jioxs

Sum of deviations from mean of a series of observations is
(1) Zero (2) Minimum

(3) Maximum (4) None of the above
s A0 % wEm ¥ oud W § feww @ am e ¥ o
1) =3 (2) =T

@) afteras 4) SuE H F HE AR

Which of the following is not a two dimensional diagram ?

(1) Square diagram (2) Rectangular diagram
(3) Pie diagram (4) Bar diagram

P § A B S-omm aEn R T ¥

(1) = fox ) oma fa

3) W R @) wgten o

OP19_Al i . |NRITANAANAATy tConed



34

33

36

If the standard deviation of variable X is o then the standard deviation of
Y=8-3Xis

1) 3¢ 2 30
3) 9 @ 6o
I fopll T X %1 9% a9 6 ¥ Y =8—3X @I 99& (Oae BF0

1 3c 2 3o

3) 9o 4) 6o

The class frequency (0B), in terms of class frequency of positive attributes is
(1) N-(4H-(B) 2 N-(A)-(B)-(458)
() N-(4B) @ N-{4)-(B)+(45)
ot (af) @ onghy, e Tei @ omgRt ¥ Rew e ww @ 7
1y N-(DH-(B) (2) N-(4)-(B)-(4B)

(B) N-(4B) (4) N-(4)-(B)+(4B)

Choose from the following the correct criterion for two aftributes 4 and
B to be independent.

) UB)=(4) B @) (4B)=0

_ D B)
(AB)="—5

3) @) (4B)=(op)

P ¥ A, @ Tl ¥ ww oY @l wed w g AR

(1)  (4B)=(4)-(B) 2 (4B)=0

@ @p=20 @ (4B)=(p)

OP19 Al ' - 12 [IUEKIITINGY (Contd...



37

38

39

Given N =1000, (4)=600, (B)=450 and (4B)=270 then attribute A
and B are

(1) Independent - (2) Negatively associated

(3) Positively associated (4) Correlated
af N =1000, (4)=600, (B)=450 ofX (4B)=270 & Toent AT :
(1) w=aH (2) HOHH e

(3) T FEEid (4) vEwErua

For 5 attributes the number of ultimate class frequencies is
1y 3" 2y 27

(B) 2n 4) 3n

n oERy % fud W @ ongfa @ dem N

1 37 2 97

(3) 2n 4y 3n

For testing independence of mx»n contingency table the degrees of freedom
of a chisquare will be

1) mxn (2) (@@m-Dxn
3) m-DHxn-1) 4 mx@n-=-1)

W mxp OGN GRON N @ EERT B @ THee 3 wR @l
wWd= Hite W g@n 3

(1) mxn 2) (m-Dxn

3y m-Dx@-1) 4 mxn-1)

OP19_Al 13 [T LContd-..



40 "From the following quartiles obtained by graphical method () =30,
(0, =38 and (3 =70. The value of quartile deviation coefficient is
(1) 04 2) 03
(@) 06 @ o8
Tar Ry o Fr= o agdsr @ v g Q) =30, 0,=38, ;=70 T @
ggde e i @Fm?
(1) 0.4 (2) 03
(3) 06 4 o038

41 Diagram obtained by plotting (x;, y;); i=12,...,n is called

(1) Bar diagram (2) Scatter diagram

(3) Pie - diagram (4) Histrogram

(¢, ¥), i=12,...n & Jifhd ®W ¥ W foy 99w I® wedRm
(1) R = (2) Taa =

(¢) TR @ g o

42  Which is the positional average 7

(1) Mean (2) Median

(3) Harmonic mean (4) Geometric mean
frr & ¥ sm-w Rafy siwa & 7

(1) gHEw=R " (2) wiAH

(3) TUHE HEA @) iR T

43  If you are told that a certain group of observations has mean 5 and variance
zero, then which is the correct statement ?

(1) There is mistake in calculation

(2) Each observation equals to 5

(3) There is only one observation in the group

(4) There is no observation in the group

qfE @l wel Wy 6 Redl wgE % YEOR &1 AET 5 U WEXOT I §
@ B HET T 7

(1) 7ot ¥ T ® (2) T AW B A 5 F IE T
G) T ¥ um & dgwm 2 @ wE ¥ uw N v T ¥

OP19_Al 14 [RIRINIRAG tContd..
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44 Which of the following is not a stable measure ?

(1) Standard deviation (2) Coefficient of variation
(3) Mean deviation (4) Range

fraffas § ¥ Ao W0 SR ¥ 7

(1) e e (2) T IR

() we Reed 4) TR

45  Attributes are measured by using :

(1) Counts (2) Measurements by some scale
(3) (1) and (2) (8) Neither (1) nor (2)

sl ® RRW WHIT W1 SO ¥ 7

(1) TR B @) FF ME F o W

3) (1) &R (2) I} A @ )R (@ & & A

46 Yate's correction for countinuety of data is applied in
(1) rxe¢ contingency table (2) 2xc contingency table

(3) ,x2 contingency table (4) 2x2 contingency table

ﬁmwﬁaﬁmﬁwmaﬁeﬂﬁﬂwﬁ%ﬁﬁlﬁ,mﬁaﬁw%
T fopem swam ¥

(1) rxc STEA AREN () 2xc STET AW
(3) px2 ST HRUR (4) oxo SET RO

47 The combination AB attribute is known as class of

(1) First order class (2) Second order class
G) Zero order class (4) None of the above
@gzmAngﬁa%ﬁwa?rﬁfzmaﬁwm% ?

(1) wem B @ fdw et

(3) o @ @) wed ¥ ¥ B T

OP19_Al 15 ARMINDANRY 1Coned.-.



48

49

50

The frequency of a class can always be expressed as sum of frequencies of

(1) Lower order class (2) Higher order class

(3) Zero order class (4) None of the above

TRl = @t sngfa w TR o AifE % gty & A ¥ <@ o1 gwa 3
(1) fe st =t (2) o Wie

(3) ™ He T 4) ST H ¥ B3 T

Given the information that {(AB)=76, (4B)=98, (cf) =228 and N =300
then we

(1) Data is not sufficient to draw conclusion
(2) Data is consistent
(3) Data i1s inconsistent

{(4) None of the above

N T I b IMYUR W (4B)=76, (AB)=98, (¢P)=228 W& N =300
Ta e

(1) 3T e 9 @5 ff wiw folg T § e
(2) Frofg @9 ¢ 5 i @ ¥

@) Prly a7 ¥ 5 wHe e ¥

@) uugad ¥ ¥ B

(o) B)
N

There are two attributes A and B. If (@f)< then these two

atiributes are
(1) Independent (2) Positively associated

(3) Negatively associated (4) No conclusion can be drawn
AR B & o 8, R @H< DO G a o

(1) w=aH 3 ' 2) e ggad ¥
(3) FOmeTE TEAE ¥ @ a3 N frfw & W s

OP19_Al ' oo 18 [WNIROERAN EContd.



51

52

(4B)  (4B)

If —(ﬁ> B) then

(48) _(af) (4B) _(aB)

O W @ @ @@

3) (éf)) < LE‘)f—)) (4) None of the above
(4B) _(4B)

® G @
(4B) _(aB) (4B) _ (o)

O @ @ @ @

3) (fj)<%?—)) (@) wRad ¥ ¥ B o T

Many professional schools require applicant to take a standarised test.
Suppose 1000 students write the test and you find that your marks is 63
{out of 100) with 73" percentile this means.

(1) at least 73% students got 63 or better
(2) at least 270 students got 73 or better
(3) at least 270 students got 63 or better

(4) at least 27% student got 73 or worse

s arEiE e e ¥ Re B UE AWE The A W 1000 e
¥ e €1 9o oA 63 9 (100 H ) ABT 73% WA9TE (percentile)
W ¥ @ gue vawd ¥ 6

(1) 7 ¥ B 73% BEt @ 63 4 Iad sfum Pl
@) @ A FA 270 wEN @ 73 W sl o P
(3) & ¥ HH 270 SE W 63 U1 IAY I Tl
@) wm ¥ @® 270 wHE @ 73 W wwd w A

OF19_Al 17 TR 1Contd..-



33

54

55

- B

Last year a small statistical consulting company paid annually each of 5
statistical assistants Rs. 22,000, two statistical analysts Rs. 50,000 each
and a sentor statistician Rs. 2,70,000/-. The number of employees earning
less than mean salary are

(n 2 2 3

(3 5 @ 7

T Bl Wl Wikl IaRmR &= o oy iRl o € wae 5 giferesr
aEael | 22,000, U 2 Hiteae! Sty @ ®. 50,000 Yl® @y aur
fafire wifma oitmrl & . 2,70,000 whed & A o Reewr wdefar
B W ¥ ww e

1 2 | @ 3

3) 35 @ 7

Second decile divides the data in the ratio

(1 1:2 @) 11

3) 1.4 4 21

T TWE (decile) wdl B T ogum o Rl e ¥ 2

(1) 1.2 2 11

(3) 1.4 4 21

Men tend to marry women who are slighty younger than themselves.

Suppose every man marries a woman exactly 0.5 year younger than him,
which of the following is correct ?

(1) The correlation coefficient between their ages is -0.5
(2) The correlation coefficient between their ages is +0.5
(3) The correlation coefficient between their ages is 1.0

(4) The correlation coefficient between their ages is -1.0

sifepay ST 3T ¥ WA SH W Aisatel § e e arar § oAk
o o s 76 9% aedl sied ¥ 0.5 9 %9 S99 ARl ¥ e
& ¢ oAl P o8 s 9w )

(1) sE=Y TUl®, QA @ I % s o - 0.5
(2) wEE=Y TUH, Q1 B 9Y & A PO + 0.5
(3) wE@ww TUIH, T B SF & S W + 1.0
(@) wEwY Tolk, I B TH b NG G - 1.0

OP15_Al 18 [ENDEANY (Contd...



56 The 50t percentile of a data is same as its :

(1) mean (2) median

(3) mode (4) none of the above

wH HE B 50% uliswe (percentile) BRI SES

(1) =R A (2) e

(3) TEEH @) e ¥ ¥ @y

: (4)(B) - .

57  Iftwo attributes A and B are such that (4B) > N then two attributes are

(1) independent . (2) positively associated

(3) negatively associated (4) none of the above

ﬂﬁﬁﬂﬂﬂﬁ%ﬁm%%ﬁﬁ(AB)>(—A%@ﬁﬁTmﬁ

(1) @@ad 3 () HETh WEAE €
() FNHH I ¥ (@) wolwa W ¥ H T

5§ Given the following 2x2 contingency table for two aitributes A and B

A o Total
B a b a+b

Jij ¢ d c+d then Yule's coefficient of association will be
Total | a+c |d+c | n

(1) O=(ab-cd)[(ab+cd) @) Q=(ac—bd)[(ac+bd)
3y @= (ad - bc)/(ac + bd) 4 QO= (ad + bc)/(ad - bc)
A o Total
B a b a+b

s B g2 2x2 omEn el S c d |c+d W yw wedwEdr

Total Va+c |d+cn

NG R U |
(1) Q=(ab—cd)/(ab+cd) @  0=(ac—bd)f(ac+bd)
3) O={(ad-bc)/{ac+bd) (4 ©O=(ad+bc)/(ad —be)
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59 In the case of two attributes it class frequency (4B) is zero then O, Yulés
 coefficient of association is :

1 1 2) -1
3) © (4) any value between 0 and 1
Al quaEl & = T gt (4B) = 0 A & O g W wead i ¥
M 1 ) -1

3y 0 (4 ¥ & T S 99 B O

60 Formula for coefficient of colligation between two attributes 4 and B
is (with usual notation)

{H (aB)(Am] /(1 MJ
¢ (4B)(cp) (4B)(e)

(. (aB)(AmJ /[1 M]
@ |7V (4B)(aB) V(4B)(af)

(. (4B)(eB)) /(, . (4B)(aB))
®) f‘(AB)(am)/ ”

=~

((4B)eB)) /[, (4B)(o)
@ (! (AB)(am]/ '~ (45)(ep)

qor Brgt #, & e 4w B % A wsalfar i ¥
(eB)(4B) ) (eB)(4B)
® (” (AB)(am/ [’ (i 2)

[1+

(_ [@B)(48))
@ (4B)(oB) |

\

\

® ' (45)(ap),

(. (48)(aB))

OP19_Al ' B |IIRINANAY [Contd...




61 Graphical method of interpolation :

(1) always accurate (2) sometime very accurate
(3) never accurate (4) none of the above
Y@ eraeE fafy

(1) ugm uRygs 2 2) »W B afa WMy=E ¥

) & W wWRym T T (4) SwEd ¥ ¥ F5 W T

62  Graphical method can be used for :
(1) interpolation only
(2) extrapolation only
(3) interpolation and extrapolation both

(4) none of the above

e fufy wm ¥ W S ¥ o
(1) b eradyw o
) Tk afdsm o
(3) orHasE T aiEdye & H
4) SR § B

63 Interpolation and extrapolation both are in same in the sense that
(1) both determine most likely estimate
(2) both result in same value
(3) both are complementry of each other

(4) all the above

ardem T aifedem <M @ U YeR ¥ UH 8§ aEie
(1) @i & wed ol wived siwes 3§

2) A & @ B A A B

(3) a’lﬂ’fﬁiﬁgﬂ%%%ﬂm%

(4) SWEm usd
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65

66

Interpolation is not affected by

(1) Violent fluctuations (2) irregular fluctuation
(3) unforseen event (4) none of the above
FREYR gwifad T g ¥

(1) 997 S (2) affm SeEEs

(3) o TeT @) TR A B AT

For a given (7+1) paired values probolic method means fitting a

polynomial of

(1) degree (n-1) (2) degree 2

(3) degree n @) degree 3

fret (n+1) gaa Yol & AW ¥ T 9§ W AWAE BTN ¥ T
(1) @i (n-1) (2) w2

(3) @ n 4) HfE 3

A finite difference table is said to be diagonal difference table if :

(1) the origin X is the first argument of the series
(2) the origin ¥ is the last argument of the series

(3) the origin X is any intermediate value of the series

(4) none of the above

Th UREE oW RO @ faweita X 9ol wel war § 9f
() &= frg x, 3ot &1 yem w2 @& |
(é)ﬁﬁﬁgxoﬁvﬁzﬁra@'&wﬁ

(3) &=w g x, o0 w1 BE N R W wE W

o

(4) Sy ¥ ¥ @i T8

-
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69

A finite difference table is said to be central difference table if

(1) the origin X, is the first argument of the series
(2) the origin X, is the last argument of the series

(3) the origin X, may be any intermediate value of the series

(4) none of the above

qmw&ﬁamaﬂuﬁﬁ%ﬁﬁﬁwmﬁmm%u&
1) ¥ Rrg x, N @ yew uew ©

) ﬁﬁ%@xo%vﬁmam'&mﬁr

() W= fag X, Rt % dra wE T O e &
4) e § 4 @i e

Divided difference is useful when

(1) arguments are equal spaced

(2) arguments are unequal spaced

(3) arguments advance with unit interval
(4) all the above

qrier sl 1 STArT widl § W

(1) =@ ® a<K A #|

(2) el @l I AN B/

(3) R B Sl THE oW ¥ ¥gdl ¥
(@) oIS gW

Newton's forward difference formula is used to interpolate if

(1) the interpolating value lies in the begining of series

(2) the interpolating value lies in the end of series

(3) the interpolating value lies in the middle of series

(4) both (1) and (2)
w{ammﬁrwwmmﬁwmﬁm%ﬁ%ﬁwﬁﬁmw
T W -

(1) oradyrEm wm g B ogE H W

2) oradedm w g0 ¥ e X W

3) orcdyrg W AW % e ® 3|

@ ()@@ @)
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70  Newton's backward difference formula is used if
(1) the interpolating value lies in the begining of series
(2) the interpolating value lies in the end of series

(3) the interpolating value in the middle of series
(4) both (1) and (2)

& B I T g H STENT IFOdyW ¥ &M A Rer smar %
g

(1) oEseE o 99t & 9@ § @
(2) orgdsEE AW Ol F oFw § W
(3) oradsVE we Ao ¥ Wy F 9
@ ()W (2 =i &

71 Lagrange formuia is useful for

(1) interpolation (2) Extrapolation
(3) inverse interpolét’ion (4) all the above
T W g SuErtt ¥ o

(1) Sy 2) =i

(3) ITET SAIE @) s Tl

x: 5 10 15 20

72 The missing value for the data by binomial

2 5 7 8
method is
a7 2) 8
3) 3 | @ 2573

x: 5 10 15 20

fire o Rt & Pret oot o id g Pt O,

1 7 @) 3
3) 3 @) 253
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75

Method of inverse interpolation utilises :

(1) iterative method

(2) Lagrange method

(3) method of successive appoximation

(4) all the above

@ eradym faf ¥ swm ¥ @ W@ ¥

(1) yuaty Rt () v Ty
@) Ty sowm By (4) wudEw @l

Newton's forward difference formula is :

n—1 n . n(n .
M =t ,}Mo @ Y=2|,)87%
r=1

7 in) .
(3) szzl , Ay, (4) None of the above
r=

e H Al W ¥

n—1 i . no(n ,
¢} %ZYHEUMU ) Yx=§l[ ]A Yo
o R @ e ¥ @ P

Which of the following relationship among finite differences is not correct ?

3 3 _ a3 2 2., _ A3
(M ﬁy—l_A -y—2__Ay—2 ) Ay—l_A yo_Ayo

_ A2 —y
3) Ayz_Ayl_Ayl @ By =N

P, ¥ @ @F-d weey oRfe el W wdl i %2

3 3 _ At 2 2. _ A3
(1 A}PI-A y—Z“Ay—Z ) Ay—er yo_Ayo

— A2 —_y —
G A, =AY @ By =N
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If X}, and X, are independent variates which of following statement is
not true ?

(M E()‘}Xz)zE(Xl)E(Xz)- @) E(X1+X2)=E(X1)+E(X2)

@) E(x-X,)=E(x)-E(x,) @ (x,/%,)=E(x,)/E(x

ﬁ&XleﬂTXZa@aam%ﬁﬁmﬁTﬁgaﬁ%aﬁw—maﬁmw
B

(3) E(Xl_Xz):E(Xl)_E(XZ) ) E(X1/X2)=E(X1)/E(X2)

The moment generating function (m. g. f) of a random variable x
defined as :

(1) E(ebc) i ¢ is a constant  (2) E(ex)

3 £ (logex) (4) none of the above

wu@&gﬁ;ﬂ?xaﬂaﬂzﬁwmw (3nsiw.) ufvwia fpen wmar &
(1) E(e‘") ;! UF SR E (2) E(ex)

3) E(loge”) @) ¥ A A oA

The m. g f of sum of two independent random variables is -
(1) sum of their m. g. ' s (2) product of their m. g f s

(3) difference of their m."g. " s (4) mean of their m. g f s
q WA W BT OSNSLE. el & S
() < SNEH B s (2) < STSH. @ IOW

(3) W SLEW. &l S (4) T b G w oA

OP15_Al 26 (IMNHTD (Contd...
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31

Let @ be the probability of success of an event and let (1-9) be the

probability of failure, then the probability that event will occure in exactly
x success in n trials.

1) " (1-6)""" @ = 9"(1 -6)"

—-x)! s n—-x AL x f1—X
(3) (=)t (1-6) @ - x)uxu 6*(1-6)

x!

afe Rl T W TR @ W @ ¥ du s Ht it (1-6)
%ﬁfigéwﬁmmxwwmﬁumﬁ

t n—x
1) o (-6y" @) 1 6" (1-6)

o

—x)t x n—x n! 6% n-x
(3) nx!x) 6* (1-6) @ o 6% (1-6)

For a poisson distribution with parameter g the mean and variance of the
distribution will be

1) (8,9) ) (8, 26)

3) (20, 8) (4) none of the above
s @it g foawm g o ¥ dt sud wed ud Rree @
1 (9.6) ) (8, 26)

3) (26, 9) @) ouied § ®E W

For large n and @ in the neighbourhood of 6 =% a binomial distribution
tends to which distribution

(1) poisson (2) normal

(3) negative binomial . (4) hyper geometric

afk g w AW Y % Tig & oK n 997 @ @ OF fhae 927 feg Wed
% X% SHET Il B .

(1) Q)

(3) FOMTH fEug @

TR IR
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82 If x has a uniform distribution over interval (—1, 3) its mean is

(@M1 @ o
(3) 3 (4) none of the above

g x (-1,3) ¥ T SWAWGR €929 T @ SHEr Wiem wm

®Hn 1 2 o
3) 3 4) SUed § ¥ wis O 9

83 If the value of Kurtosis is more than 3 then the shape of the curve is

(1) medium top (2) flat top

(3) peak top (4) any shape

g% FHem &1 AN 3 W oftm ¥ A wm @ Qw Enl
() @ gifw = (2) =ue Sftw aw
() Faw offw = @) g N gEr @

84 If 4 and B are two independent events then which is true ?
(1) P(4B)=0
(2) P(4uB)=P(A4)+P(B)
() P(AuB)=P(4)+P(B)-P(4).P(B)
) P(4B)=P(4)-P(B)
a4 wd B A @ad we ¥ Preafvfad § de-w wer 32
(1) P(4B)=0
(2) P(AUB)=P(4)+P(B)
(3) P(AuB)=P(4)+P(B)=P(A4).P(B)

4) P(4B)=P(4)-P(B)

OF19_A] | 28 AN rConed...



85 If 4 and B are two independent event then P(A/B) is
aQ o @) P(4)
3 P(B) @) P(4)P(B)
aft 4 iR B @ @aA weA™ ¥ @ P(4/B) ¥
M o 2) P(4)
3 P(B) @) P(4).P(B)

86 Two unbiased dice are thrown. The expected value of sum of numbers
on the upper side is

(1) 3.5 @ 7

(3) 12 4 6

3 erfrg S| ¥ Fed T, S0 SaE W STNA st & AT @
TN §

(1) 3.5 @ 7

(3) 12 4 6

87 When the distribution is said to symmetric if the third moment is :
(1) positive
(2) negative
(3) zero
(4) does not exist
wh de waPE B AR s S e W
(1) =Ae
(2) =OTEEH
@) TF
@) wum sfa ¥
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The main drawback of gross reproduction rate is :

(1)  assumption of no mortality of female chilren till their age of fecundity.
(2} no consideration of divorce

(3) neglects number of unmarried women

(4) all the above

FH W W B g AW & 6 osaw

(1) =7 v & IR § = T @ AR/ W 9 39 @ 89 A usd
A WO ¥

(2) TWE B TIW e @l W@ §
(3) orfaafsa wikwmel & W TE T@ W §
(4) ST 99

The -net reproduction rate is more viable than gross reproduction rate
because

(1) 1t takes into account fertility rates as well as mortality rates
(2) it makes use of life table
(3) it uses survival rate

(4) all the above

TRE PR, & oY § ot Rigawia ¥ i
(1) ¥ 91 &Y UF Jg T A0 B W bl ¥
(2) A e Aol H STEET B §

(3) A "ERAW (survival) IW HI IFGT BRI B

(4) <9l Wl

Population growth is mainly concerned with

(1) total number of birth (2) number of male biﬁh
(3) number of female birth | (4) all the above

w ghg gegag feix

(1) R S B g (2) UoW & T W G

(3) wfewrsli & <= B WEw  (4) Suddwa ol

OP19_Al 30 (NN rConed...
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93

Total fertility rate provides the basis for :

(1) the expected maximufn family size

(2) population projection

(3) population increased in desired period

(4) all the above

T W @ X Preefatad ¥ A Be-E oneR & ¥
(1) uRaR % Sifumad AT Wl T

@) @ % TgAA

@) T & TN TR oW d 9

@) SO W

Vital index for acertaining population growth is :
(1) a good measure

(2) a rough measure

(3) a useless measure

(4) none of the above
(1) TH oS 09 ¥

(2) TH TN WG ¥

(3) T FHR A9 ¥

(4) wudem ¥ @ W

The general child bearing age in India is :

(1) 20-24 years (2) 20-29 years

(3) 15-49 years (4) 10-49 years
WO KA ¥ W e B SW B A el §
(1) 20-24 9@ (2) 20-29 @

(3) 15-49 | @) 10-49 qrd

o194 st TR (Conta-.
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The probability of living a person in the age group of x to x+» can
be determined from the formulae in usual notation, by

M L/ @ (lwn L)1

&) (!x - lx+n )/ lx+n @ lx / lx+n

T AT H x W x+n B TP A T B ARG B T FQ B R,
YR &St & W, B -9 gF BT I9ET B

(D lirx+r:*/jrx (2) (£x+n A!x)/lx

@ (Lo lesn @ L/,

A life table constructed for an age interval of 5 to 10 years is specifically
known as

(1) grouped life table (2) interval life table

(3) abridged life table {4) none of the above

T S IR @t S O SfaTe 5-10 Wi @l <@ WY qt 9wdR
W I G AT E

(1) d¥ge shaqd gl 2) oraaw WEe 9ol

(3) wferg <few areol 4) Suw ¥ ¥ @i O o
The ratio of annual net migration to the annual mean population provides :
(1) vital index (2) net migration rate

(3) population growth (4) none of the above

e oy woeT o offma @iffs wm @1 ouE 2l 3
(1) SO Stihsl @1 O (2) wgE wEgET W

(3) wmr W iy @ Sow ¥ ¥ o off o
A life table based on the experience of actual Cohart is called.
(1) generation life table {2) fluent life table

(3) both (1) and (2) (4) neither (1) nor (2)

b Siee gl s fe U anafas wel % e wr s Bl ¥
9% el ¥ '

(1) "o SEW gRen (2) 91 yEIied Sas ane
3 )T Q) @ (1) T (2

OP19 A C® N Cona..
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If /. is the number of person living at age x and L_ be the number of

persons living the mid of ,# and (x+1)rh years, then the relation between

[and L is
X
¢)) Lx‘E(I +Ix+1) ) Lx=5+lx
G L. =0+, (4) none of the above

afy I @R % x ww @Y oF 7% N o of ¥ ol L, ok x g (x 1)

W % WeT A% WM @ ok ¥ L ud L, % 9 & e ¥
1
(]) Lx - E(lr +lx+l) (2) Lx = §+fx

@) L=l @) SR ¥ F @ o T

A life table is a profile of human population which exhibits :
(1) probability of dying at each age

(2) number of living and dying

{3) expectation of life at each stage

(4) all the above

TH SET GRS HIERel @ wuEr & ey & T

(1) wd® 9 UT WA I AT

(2) wya Td THA T BN HATBST

(3) WS W T ST T

(4) woE @

If the population of a country in two consecutive census (1991, 2001) is
50 and 80 Crores respectively what is the expected population in 1995,

(1) 65 Crores (2) o4 Crores

(3) 63 Crores (4) 62 Crores

afy fpdt d91 H TEEm FAR & g TOER (1991, 2001)i‘r50qa
80 HAUS & T 1995 H SEEE W FIAF W

(1) 65 #qs (2) 64 BT

B) 63 ®Us @) 62 Bl

OFI9_A) 33 {AIRIINN) [Contd...
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OP19_Aj 34 | mll

The general relationship between gross reproduction rate (GRR) and net
reproduction rate (NRR) is

(1) GRR > NRR

(2) GRR < NRR

(3) GRR = NRR

(4) There is no relationship between them

WURUE H= 591 ¢ (GRR) Ue aRgMg o1 aX (NRR) § =4 el ¥
(1) GRR > NRR

(2) GRR < NRR

(3) GRR = NRR

@ A W BE wEy T owa

Population of a country remains stationary if NRR is

() NRR > 1] (2) NRR < 1

(3) NRR =1 (4) none of the above

w Iy B e wid @l ¥ oafly sEel ufige s e (NRR)
(1) NRR > 1 (2) NRR < 1

(3) NRR = | (4 SR ¥ ¥ B W T

The Vital rates of the population are expressed as

(1) per million (2) per 10 million
(3) per thousand (4) per hundred
W gl T WO S H W §

(1) wiy <@ @™ (2) Wa wE

(3) Wi F@R @) wfr Faper

"The complete enumaration of all the units of population is called

(1) sample survey (2) cencus

(3) vital statistics (4) none of the above

W % YOE THE B O wEAR] &

(1) wiagst g _(2) O S T

(3) whEw wEE rws (4 SWaEa ¥ ¥ wE N T8

MR (Coned.-
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105 A population with constant growth is known as

(1) stationary population (2) constant population

(3) stable population (4) none of these

o Bl WAt & gRe =X omw ¥ o 9 wARe wwAl ©

(1) ey gate (2) omEd e

(3) fax wife @ T q B W TE
106 The general death rate is technically known as

(1) specific death rate (2) crude death rate

(3) standardised death rate (4) afll the above

TURT g &, T dR U ST S ¥ |

(1) Tfe g () wEl Jg

(3) wFE Jg & (4) Sudwa |/W

107 Survival rate in general is measured through :
(1) The difference between crude birth and death rules
(2) The ratio of difference between birth and death to Mean population
(3) both (1) and (2)
(4) neither (1) nor (2)
I Wi X eURUEE W SR §
(1) He W X wd el 9 I b A= W
(2) W WU U§ S Y U % WX bl STgA
G) () w ()3«
@ () Tk @ 7

108 The advantage (s) of sampling registration system is that :
(1) It gives full coverage of area
(2) It is more accurate
(3) It provides estimate of rural and urban areas separately
(4) all the above

wRrast it ol w1 W § T

() ¥ gt & H Ryeor T 3

(2) A SE UYS ©

G) A T wd A F SNimEN Al oI AaT ¥
(4) STgR @R

OP19_Al 33 [N INAIRER (Coned...



109 Sampling registration system fails to record
(1) age-sex composition (2) birth réltes
(3) death rates (4) all the above
TRIEST GSHeh<oT WO § T o el B Sl el im P
(1) 39 wg {7 = 98w 2 w9
B) Jg (4 TR g

110 Registration of vital statistics in India suffers from

(1) Incomplete coverage (2) Incomplete reporting
(3) lack of accuracy 4) all the above

WA § WH-Tg @ SieEt & UsieRe @ Fra wieEt ¥
(1) ot &= fEem () ongll M@y frexor

(3) wRyha & @i (4) SUUE W

111 Age specific death rate of babies less than one year of age is known as

(1) Infant death rate (2) Neonatal death rate

(3) Mothers death rate (4) Foctal death rate

1 W o %A g @ fafie g X wRar ©

(1) 9@ (Infant) g (2) e (Neonatal) I& &%
(3) = @ g T @ T W gy

112 Stanardised death rates are particularly useful for :
(1) Comparing death rates of males and females

(2) Comparing death rates of two regions

(3) both (1) and (2)

(4) neither (1) nor (2)

e g 1 ik W wveEs ¥ ose s

(1) e e Rl @ m a B ge wd ¥
(2 [ & B TG T B OGET DLW T

@) < () @ ()

@ () T (2)
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113 Fertility rate mainly depends on

114

115

116

(1) total female population

(2) total population

(3) female population in child bearing age group
(4) number of newly born babers

w9 @9l X ge7 9@ el w e ¥

(1) T9 dfiwel @ wnfe

(2) "I e

(3) witemel @ wale S W I awd 9w A ¥
(4) & I g & siw

Age specific death rate for the children of age less than five years is called :
(1) Infant death rate (2) Neonatal death rate
(3) Maternal mortality rate (4) Foctal death rate

fufirse om wg &, o f5 o wwl % T R Sw Wi ww @ WA
ot ¥, weET ¥

(1) 9@ (Infant) Jg T (2) =ed (Neonatal) Y W
(B) A @ g @ T B gg

If the demand of a commodity is not affected even when the price increases
such commodity is called.

(1) ideal commodity (2) non sensitive commodity
(3) essential commodity (4) none of the above

o R g A W SR S T § weie T e ¥ ol
(1) o= =g () wEdE e g

() omasEw oY (4) SWEd ¥ ¥ B W A9

If the demand for the commodity decreases as the price of the same
increases such commodity is known as

(0 e_ssential commodity (2) ideal commodity

(3) npositively elastic commodity (4) none of the above

af f5ft ag w1 Wi SuH PG 96 W ¥ HH B IARI 8 A BH e
Hd T :

(1) SEEs TG (2) ol &g
(3) oV W A 9 (4) g ¥ ¥ By A
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117 In India the price of US Dollar is determined by

(1) International market (2) Reserve Bank of India
(3) National Share Market (4) none of the above
g § IHUET BT B AE aF B 2

(1) SRS TR 2 wEE =g ¥

(3) TWE W TEW (4) S ¥ ¥ BY T

118 If the demand for a commodity decreases with decrease in price such a
commodity is called
(1) discommodity (2) essential commodity
(3) ideal commodity (4) non elastic commodity

gt Reel aeg A B e W TH 9F] B AT W B § W ¢ Al 9%
TG HEART &

(1) ey (2) s g

(3) omN Uy @) R A" e wg

119 If the demand of commodity increases with decrease in the price such a
commodity is called

(1) positive elastic commodity  (2) essential commodity

(3) lwxuty commodity (4) none of the above

Il el SRG H DG T T IW AKG B AT GG TN ¢ A a8 BEARN &
(1) oI W= aml 9 (2) EYH 9%

(3) Y@ B aE (4) ST H @iy T

120 The price elasticity of demand can be defined as
(1) relative change in demand of the commodity per unit change in price
(2) relative change in price per unit change in demand of the commodity
{3) both (1) and (2)
(4) neither (1) nor (2)
WA W &/ qReiya @R S " ¥
(1) Teoelt =g & w7 emifde IEAE Uik SEH HEG H UE SHE 9edd
o ¥ -
(2) Topdl agg & ®ma 3 oMIRTE See alg Sg@ A9 § UH 5H15 98AT
AT F
3) ()8 ()
@ (1) & (2)
OP19_Al 38 UMMM N Loned.
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If the price elasticity of demand is high then the commodity is called
(1) essential commodity (2) ideal commodity

(3) luxury commodity (4) sensitive commodity

o fedt g W B B W ot @ @ ar oy weE ¥

(1) oEsE® 9 (2) et O

() TE-TE @ TG @) denie ag

If the price elasticity of demand is low then the commodity is called :
(1) essential commodity (2) ideal commodity

(3) luxury commodity (4) sensitive commodity

oy Bl ag A W @ AN g S B W a8 A BRI 8
(1) EEFR =g (2) omREst a%g

() e W Y (4) HIEhd a%g

If X follows a Bi(n,8) then it will be symmetric if @ is :

M =) @ 0=Y%

® 6=V @) none of the above

aft afes = X ~Bi(n,0) [ @ Wik sm Al ¢ W AW
W 6=Y% @ 60=Y

¢ 6=} @) ww ¥ ¥ B &

If the mean of a binomial variate is 4 and its variance is 3 then the value
of g will be

m o=% | @ 0=%

3) 6’2% (4) none of the above

ofy o fave 9 & WEA 4 U SEH YO 3 ¥ A 9 W AW W

m 6=Y% @ =%

@ o=Y @ s F ¥ B N T

OPI®. AL 39 MWD (Contd...
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127

The supply elasticity of demand can be defined as

(1) ratio of relative change in supply to relative change in demand
(2) ratio of relative chaﬁge in demand to relative change in supply
(3) Dboth (1) and (2)

(4) neither (1) nor (2)

fordt =g o emgfd @ 9 W W oientya # o §

() omgii o omfdes sew wd AT % Wi S # SIu™
(2) W & omifdes S]WE TE OMYRE & oMU SeEE H ST
@) 1) @R @

@ =g (1) =1 (2)

If the demand function of a commodity 18 ¢=f (p) then the total

expenditure on it will be : (given p is price of that commodity)

df
M dff ) @ ¢/(2)
3) pf ( p) (4) none of the above

afg fepdt awg @1 W wE ¥ g = f(p) O SE G% W FW @™ wn (AR
;)B'Hﬂ@iﬁiﬁﬂﬁ%)

d
(1 % @  q./(q)
3y pf(p) (4) wudwd ¥ § @is @l

The correlation between two variables X and Y is :

(1) the degree of linear relationship. between them

(2) the extent of functional relationship between them

(3) both (1) and (2)

(4) neither (1) nor (2)

A T H A" WETY T ,

(1) o §ra 3l e & Bile (2)  ST% 90 Had @G Sl 4

(¢) () SR (2) (4) A () T (2)

OP15_Al 40 [ICEIMAHI tConed...



128 The range of correlation coefficient based on » pairs of observation is

® (01 @ (-10)
-1
@ (-11) @ [;JJ
qeEY S S 6 o g del W oeneiRa ¥, @1 yER
ORRCRY @ (-1,0)
-1
@ (L) ) [—;J]
129 If y=10+4X then the correlation between ¥ and X will be
1 -1 @) -+l
(3) 4/10 (4) none of the above
AR y=10+4X @ YU X F T WEEFY JUiE BN
(1 -1 2) +1
() 4/10 (@ wuded ¥ ¥ B W @

130 The correlation coefficient between X and Y as expressed in terms of

regression coefficients By, and Byy is
(1) average of By, and By
(2) Geometric mean of By, and By

(3) Harmonic mean of By and By

(4) none of the above |
A W X UEY F S gewy YOG B Sib WA O
B, Wi By, % wu frod =E fen wwen ¥ o2

(1) By W@ By @t A
() By, wd By, @i O W
(3) By, W By, & WH WA
(4) S ¥ ¥ By &
OP19_A] “ (G TTRAATY TC-omed..
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133

134

The unit of correlation coefficient between X and Y :

(1) is same as unit of X (2} is same as unit of ¥
(3) same as unit of X.Y (4) there is no unit

FewEy T, T A W X W ¥ ¥ A ¥ s

() AN T X B sBE T (2) AU A YD HR &
@) @AW XYW R ¥ (@) SWR F Y B A

If the relationship between ¥ and X is Y=5-3X then the correlation
coefficient between ¥ and X is

a -1 2) +1

(3) -3/5 (4) none of the above

AR Y@ rS dugEy 53X @ X Y F &g gsEes iw
Frm

1 -1 (2) +l

(3) -3/5 (@) vuded ¥ ¥ &g A

If X and Y have p as correlation coefficient then the correlation coefficient
between X —g and Y—p

1 >p @ <p

3 =p (4) none of the above

Rt & o X gd ¥ & 99 weway e p T Al (x—a) T (y-b)
1 >p @2 <p

G) =p (@) sudEw ¥ @ W o T

If the correlation between X and Y is positive then the correlation between
~X and -Y will be :

(1) positive (2) negative

(3) zero _ (4) (1) and (2)

af X od ¥ ¥ 99 Gee S S § @l X, ¥ & " 9% '
(1) wTop (2) HOERG

@) o " @ () ¥ (2)

OPI15_Al 42 TN [Contd...



135 For a group of n people the correlation between height and weight is
calculated then it will be

(1) positive (2) negattve
(3) zero @ (1) and (2)

@nw%aﬁﬁﬁﬁwﬁm@%@awwﬁmaﬁw
CAlk EE

(1) oEE B (2) HOTEE BN
@) o W @ (1) &R (2) &=

136 Karl Pearson's correlation coefficient between two variables X and Y is
defined by the formula :

E(XY)-E(X)E(Y)
v(xX)v(r)

(1 F=

_E(X7)-E(X)E(Y)

@ "
©) P=E(X)-EX)E(X)[r (x)V ()

" JE(XY)—E(X)E(Y)

VX (r)
FE TG B gEEEY H, WX X wd ¥ % A9, B g ¥

E(XY)-E(X)E(Y)
v(x)v(r)

(1 »~=

_E(X7)-E(X)E(Y)

(2) .P_ J?(X)V()
@) P=JE(XV)-EX)EQX)V (X)V ()

“ JE(XY)—E(X)E(Y)

V(X (r)

OP19 Al 43 [N KRN TContd--
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X and Y are two varables, one of them assumes same value for all

observations, then the correlation coefficient (p) between them will be
() p>0 2y p<o0

3) p=0 (4) can not be determined

X, Yod A wig W ww a3 % Wl VE B W GAE § <l Shl geaery
T (p) #T

(H p>0 2 p<0

(3) p=0 (4) p®1 WE AR TRl W FhdT

The correlation between the circumference and diameter of a circle is

(1) +1
@ -1
(3) zero

(49) non-sence correlation

TH JA B UNY SR SEG AW A W V% 8RN

(nH +
@ -1
G) ™
(4) WUE wwad

If the regression coefficient bICY is positive then the regression coefficient

bXY will be
(1) p‘ositive (2) negative
{3) =zero (4) nothing can be said

it wmEEe qoie by, HAGE ¥ A WIS oG b, &
(1) o (2) OB
3y 9= (4) % I N FB T BT o Tl

OP19_Al 44 INENFAIENY (Contd...



140 If the regression coefficient » -1 then the regression coefficient _bxy
xy

will be :
(1) bxy >1 (2) bxy <]
@) b, =1 (4) nothing can be said

H&WWTﬁfﬁbxy>l?ﬁwww b, A
) bxy>1 @) bxy<1

3) b, =1 (4) 9% X A FB TE HEl A el

141 1If the regression coefficient ¥ on X is by, then the regression coefficient

of C¥ on X will be (C>0) :

1
(1) Eb}';{ 2 € by

3 C szX (4) no change

o Y @ X WX s [NE by, A CY W X W OEHEse TG
gm (C>0)

1
M o @ C by
3) C’by, @ = sewmE T

142 The correlation between the side and area of a square is

(1) positive correlation (2) negative correlation
(3) nonsense correlation {(4) no correlation

o o @ e Od Se A % S weEE @

(1) &€ ey (2) FTHE WeTTY
() Preds wwaey (4) HE wEHY S

OF15_Al 45 IR RG ECon«d...
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145

If by, is the regression coefficient of Y on X then the regression coefficient

of Y—q over X (a>0) is :

(1) no change () by+a

: 1
3) by @ by
IR by TR Y BT G GG NS E A Y - (a>0) BXU  GHIHA
ol BT
(1) #E g &l @ byte

1
@) by-@ 4) gb}&r

Given the regression line ¥ =14+0.6X, the most probable value of ¥ for
X=51is

(1) 15 2y 17

(3) 16 4) 19

IR Tt e N ¥ Y =14406X T X=5 & R Y@ g
SR GHITE 9F BT

() 15 2) 17

(3) 16 4 19

The regression coefficient Byy can be defined as
(1) Change in Y per unit change m X

(2) Change in X per unit change in ¥

(3) Change in ¥ by a unit resulating change in X
{4) None of the above

Y @ X X qeigEn e gienie e s ¥
(1) Y ¥ ge@rE oiq X % UH 3 ¥ ggen 9Kl 8
(2) X® weeg 59 ¥ B T 76 9 ga §al &
(3) Y% UH IHE b I_AN & HRU X H qEAE
(4) SWE T ¥ B T

OP19_Al 46 [BIIRHAER 1Comed...



146 In which index number the quantity of commodities of the current
year used is as weight

(1) Laspeyre's index number (2) Paasche's index number

(3) Kelly's index number (4) Fisher's index number

foe gl 7 g ad B T o agell o W B AR F w9 ¥ Bm
A foam smn

(1) wEIRR %1 gaeis (2) W W GINB

() A B gEAE @ e @1 gEie

147 Which is the most appropriate average used in Index number

(1) Mean (2) Harmonic mean
(3) Geometric mean (4) None of the above
i 4 &M 9 A 999 SugE ot @

(1) R Ay (2) TaH® W

(3) U HeA (4) ol ¥ ¥ HE

148 Consumer's price index is also known as
(1) Whole sale index number
(2) Cost of living index number
(3) Fisher's ideal index number

(4) None of the above
e Jed Foie Fr A § O Sten ot §
(1) @% & 99 H TID
(2 =3 ek w1 g
(35 e a1 st guniE
(4) S # ¥ B T
OPBAL v (IR tContd..



149 The demand and supply funcitons of a commodity are d=16-2p- p2

and s=8p—6 respectively then equilibrium price of the market will be

1) p=2 2) p=3

(3) p=8 _ (4) None of the above

R e ag & A wd ongfd e weent R ¥ g=16-2p-p® T
s=8p—6 W WK & g UX I B B wH

(1) p=2 @ p=3

3y p=8 (4 IR F ¥ By TR

150 If the demand of a commodity increases inspite of decrease in the supply
of commodity then commodity's

(1) price will increase

(2) price will decrease

(3) no change in price

(4) nothing can be said

oty Rped axg T W Swl gy &% BT € F A f ol W I G H
(1) T qT SEW

(2) T T SR

(¢) T W B SE@E @SR

@) 3= Ak ¥ B o T w1 Febal

151 Index numbers are known as

(1) economic barometer (2) signs and guide post
(3) both (1) and (2} (4) neither. (1) nore (2)
TANB BEA &

1y affE Rug % WA () R wd R
3) (1) R (2) & @ =i (1) T (2

OP15_Al 48 (MWL) (Contd....



152 Index number is a

(1) measure of relative change (2) special type of average

(3) a percentage relative (4) all the above

i b

(1) omfhe sewE & @i () wa fafits ywr w1 "
(3) wifEa whivm (@) wudE ;T

153 The error(s) involved in construction of an index number is (are)
(i) Sampling error
(2) Formula error

(3) Error in collection of data

@) Al the above

e TR § BN e Wil & e w7
(1) st Ffe

@ g W R

() wiw B @S B PR

(4) SudEd g

154 The most commonly used index number is
(1) Diffusion index number (2) Price index number
. (3) Value index number (4) All the above
o8 e FM mEEn YEiw ¥
(1) FEmw gEw (2) T S
(3) N gIw () SWRad ¥ ¥ By W TR

OP19_Al 9 IRy (Comed.-



155 Consumer price index number is constructed for
(1) well defined section of the society
(2) all people
(3) people of a particular area
(4) all the above
s ou qudie w1 e s W Rem s ¥ o7
(1) oERE & uw o g Ui @vs % fWd
(2) =N smwhet &
() Felr & & onelml & TR
(4 Sudw oW &%

156 The first and foremost step(s) in construction of index number is (are)
(1) choice of based period
(2) choice of weights
(3) to delineate the purpose of the index number

(4) all the above

qutis % Pl § wed yem ol weEql wE ¥
(1) R 9¥ &1 I

2) W H g

¢) fa R\ I T I SEH gIAaie T s
(4) wwEd adl

157 If p is correlation coefficient between X and ¥ then quantity 1 p2 is called

(1) Coefficient of determination (2) Coefficient of non-determination

(3) Coefficient of association (4) None of the above

fy A W X Ud Y P gEwEy N p & @ (1-p?) e
(1) S@EE 6 (2) uiynica SwE™ Ui

(3) TEEIEd U (4) ST A ¥ By TR

OFP15_Al 30 AT (Coned...



158 In regression of Y on X, the variable X is known as

(1) independent variable (2) regressor

(3) explanatory variable (4) all the above
T Y W X T GO F Ay X @ S e ¥
(1) @A W (2) W W
(3) TEE (4) SUUE wW

159 If p==1 then two regression lines are

(1) coincident (2) parallel

(3) perpendicular to each other (4) none of the above
IR p=+1 B @ I TEHEw Y@ s

(1) srg&v (2) @HiEY
() g WA ¥ (@) wudem ¥ wis W TR

160 If p=0 then the two regression lines will be
(1) coincident’ (2) parallel

(3) perpendicular to each other {4) none of the above
I p=0 & qA I wEEHGW @R

(1) oigsu (2) THW
() TS T W wH (4) SWRad ¥ § @ O T8

161 Given the two regression lines 3X —4Y +8=0 and 4)X —3Y =1 then the

means Yy and y are

() X=47=5 (2) X=3, 7=4

(3) X=4/3 Y=5/4 4 X=5 V=4

afy A1 g Yo & 5 ¥ 3X-4¥+48=0 T 4X-3Y =1 q WA
X wd ¥ @ "F OB

(1) X=4,7=5 @) X=3 7=4

il

(B) X=4/3 7V=5/4 @ X=5

OP19_A] 51 TR ECored...
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162 Consumer price index in 1990 is increased by 80% as compared to base

163

164

year 1980. A person whose annual earning were Rs. 60,000 should now get
(1) Rs. 1,08,000 (2) Rs. 1,72,000

(3) Rs. 1,54,000 (4) Rs. 80,000

1990 1 UTeH Y YeAish, SEh AuR a¥ 1980 ¥, % B 80% W3

T T A U R NEe i A 60,000 €. &Y o I @i e
My

(1) 1,08,000 3. ) 1,72,000 <.
() 1,54,000 . (4) 80,000 .

In india the data pertaining to growth of economy is realsed by
(1) Central Statistical Organisation (CSO)

(2) National Sample Survey Office (NSSO)

(3) Reserve Bank of India (RBI)

(4) State Directrate of Economics and Statistics (SDES)

ad § ofereen ® few ¥ e ek o RY s R
(1) CSO (2) NSSO

(3) RBI (4) SDES

The general short comings of Indian statistics are

(1) Inadequcy, incompleteness and in accuracy

(2) Lack of uniformity, Lack of cordination and lack of proper analysis
(3) Delay in publication and in adequate publicity

(4) All the above

() ugiaar, ageiar ud sruigrsdt

@) TF N, T T eghm R @ el

(3) wEH ¥ faere wd wEw @ erauiwan

@) SudE @\

OP19_Al 52 [AURTRINHE (Contd.-



165 Indian agricultural cencus was first held in the year

166

167

168

(1) 1950-51 @) 1960-61
(3) 1970-71 (4) 1980-81
TN WA B WOFN 53 W 9

(1) 1950-51 () 1960-61
(3) 1970-71 (4) 1980-81

In some sense the real Indian population cencus was conducted in which
year ?

(1) 1871-72 (2) 1881-82
(3) 1891-92 (4) 1895-96
ol demt o arafys woam swOET aRa ¥ feg oad H o 2
(1) 1871-72 (2) 1881-82
(3) 1891-92 (4) 1895-96

National sample surveys organisation conducts sample surveys to collect
information about organised sector

(1) every six month (2) annually
(3) biannually (4) none of the above

AR wfosyl wEae @et aEie et v % R ok wehbe
EEGIE]

(1) ¥ B W@ (2) wla g
(3) T W ¥ UH IR ) SR ¥ ¥ @ W T8

The sixty first round of NSS was conducted in the year

(1) 2002-03 (2) 2003-04

(3) 2004-2005 (4) None of the above
NSS & 61 & =% %9 fear wm @t ?

(1) 2002-03 (2) 2003-04

(3)  2004-2005 @) Sww ¥ ¥ s I

OP15_Al 53 VAR (Contd...
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Land utilization statistics are published in
(1) Agricultural situation in India (monthly)
(2) Abstruct of Agricultural statistics

(3) Statistical abstruct of Indian union

(4) All the above

i I B F oS T TR W ¥

(1) wdm iy Refy (wfeme)

Q) Bt wadr wiwe (W)
(3) WRA™ ghmwr & offbet w1 Eiee
(4) U WHl

Indian Live stock census is conducted every

(1) Yearly (2) Biyearly

(3) Quinquennially (every fiveyear) (4) None of the above
TR 9YEE B A B S 8§ W

(1) @ (2) & wa F TH AR

(3) dEm g9 ¥ TH 9 (4) SulEd ® ¥ w3 T
The main source of collecting Labour statistics is

(1) Decenial census (2) National sample surveys
(3) Employment Exchanges (4) All the above

Torgdl WU Rl H TH B B ged Sa ¥

(1) =@ =¥ SR (2) TEE wRkey waE

(3) AR USBLoT Eel (4) SUTET |H

The forest related statistics are published by

(1) CSO and NSSO

(2) NSSO and DES (Directrate of Eco. & Stat.)
(3) DES and CSO

(4) All the above

W el S YT WA ©

(1) CSO &R NSSO

(2) NSSO @R DES (SR#Z 8% THl. 3K =)
(3) DES 3T CSO-

(4) Suled wW

OF1_Al >4 [IHAITRIR {Consd..
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For the first time in 2011 census foreigners were also counted for those
living in the country for more than

(1) 21 days (2) 9 month

(3) Six month 4y 9 year

2011 ¥ ST § URWER S feksfat & W o g5 ¥ W R o
M 2fFaafeEeRST Q 9 afmT®A
B) 6MEAMBPTRA @ 9z & st ® @ &

How many Govt employees, teachers and others were involved in 2011
census ?

(1) less than 50,000

(2) less than 1,00,000
{3) less than 1,50,000
(4) more than 1,50,000

2011 &7 sEe § fhaw @R wdarll, sss Sl o @ &M 3
st R T & 7°

(1) 50,000 ¥ &q
(2) 1,00,000 ¥ &Y
(3) 1,50,000 9 A

(@) 1,50,000 ¥ SOwEI

In our country 1t has become necessary to register

(1) births (2) deaths

(3) marriage and divorce (4) all the above
T gy H Frafafad § @ fre delier et &2
1y = @ 79

(3) onieal ©wd gamm (4) SUAeT gl

OF19_A] 55 (VIR 1Coned...



176 For calculation of National Income we use
(1) census production method  (2) census Income method
(3) census expenditure method  (4) all the above

TS o @ e ¥ wm F R SW R
(1) s g ot (@) @ oE Tt
(3) =@ wE iy (4) U "l

177 Census of manufacturer is conducted every

(1) month (2) six monthly
(3) yearly (4) Dbiyearly
FEREE WOE B ST ¥ w

(1) = A (2) ®AE d
(G) "W o @ o sw A

178 One of underlaying assumption in analysis of variance is
(1) errors should have same distribution

(2) errors should be independent

(3) errors should be N (0, cﬁ)

(4) all the above

e faserger 0 Py werwel ¥ ¥ uw T T
(1) et @ 9 T E A

@) I woR g i

@) i (o, of) @ =i

(4) wudEE wH

179 In any experimental research the experimental unit is

(1) an animal (2) plot of land

(3) group of animals @) all the above
Py uriiftes ot ®E B TR SEE ¥

(1) @ Ty (2) TH THT B HSI
() Ue uygs & GE (@) wodad gl

or19_Al 6 AN (Conta--



180 The basic principles of experimental research are
(1) replication
(2) replication and randomisation
(3) randomisation and local control
(4) all the above

TR SEN & quYd Reara @
1) Tk

2 TR T aEfewm

(3) ureteseErw T W e
(4) SwlE gl

181 To get an idea of the fertility conditions of a field, the method used is

(1) Local control (2) Replication

(3) Randomisation (4) Uniformity trials

Th Gd w Seal & uRRafet o wee % e e owam § e ¥
(1) i Presm @) gk

(3) amEfw®I (4) UH FEEa: qiEe

182 In a two way classification with m observations in each cell, in ' rows
and '¢' columns the degrees of freedom for total sum of square will be

(1) (m-1) (1) @) (1) (1)

3) 1 (1) (4) mre -1

m UE Yl wvew AW ue Temel @it fvad v dfREi 9o e wiw
ECI R G e L ) e i e T i T2 ]

1) m-1) (c-1) @ (m-1) (1)

3) (1) (c-]) (4) nmwe -1

183 Local control is absent in which of the following
(1) Completely randomised design (2) Randomised block design
(3) Latin square design (4) None of the above

tefalan 4 @ el Frsw el egofee e ¥
(1) wim: aefes afiean () a=fes g steam
() e ot sfmeean (4) s ¥ ¥ B off W

OP19 A 7 IR 1Comea-.



184 Who developed the technique of analysis of variance ?

(1) Pearson (2) Yates

(3) Cochran (4) Fisher
vl Rysdwer @ wlem o Reew feww femoar 7
(1) FrerEs (2) Az

(3) W& @ R

185 Local control is used to
(1) increases the number of plots
(2) to reduce the number of replications
(3) to reduce the degrees of freedom of total sum of square

(4) to reduce the error variance

e P @ e osa e fem s @ R

() qEvel @ GEn oF %

@) TR @ e @ wen F R

G) Wt o dm B e B B wen wen b R
@ IR F g H® wER & WA

186 In a randomised block design the homogenity should be there

(1) between blocks (2) between treatments
(3) within block (4) none of the above
w aEiEd wus afeed ¥ GERT (homogeneous) BT e
(1) X @l & &1 A (2) o STard & ' o
(3) wU=H F IIIL (4) REd ¥ ¥ B T

187 If Hy is false then the probability of accepting H, is

() « @ B

3) 1-«a | 4 1-p

afy H, w@ T8 ¥ @ Hy & WeR $ & oy
n o . @ B

3) 1-« @ 1-B

OP19_A] 58 [IUTMIRWARENY EContd.
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191

Probability of rejecting H, when it is true is

(1 o @ B

G) I-o (4 1-P
aft Hy ¥9 & O 0 @R WY @ wiws
1) « 2 B

G l1-a - @ 1-8

In a normal distribution, when variance is known the appropriate test for
testing Hy:0=4 Vs H,:6=6 is

(1) t-test {2) Normal test

(3) Chi-square test (4) None of the above

b WY 92 REaAl Toxor s & al Hp:0=4 Vs H,:0=6 &I a0
B P WY BE-E OO SUYE e

(1) ¢ adiEw (2) WEERT UdE
(3) w-a g @ s ¥ ¥ B
In a large sample test based on sample of size » the standard error of
- proportion is

P4 N Pq
m @ Y

n

() pa/Vn @ pg/n

Th g€ whindl wdiew, gfaest & W op o3 onenfE, o e @Y W

I @
Jra

® = @ ¥

G3)  pg/Jn 4 pg/n

Which of the following test is used for testing significance of observed
correlation coefficient, provided sample size is small ?

(1) t-test (2) F-test
(3) Chi-square test (4) Normal test

Frfafea & & witesl @ ur weeEy e @ wefea B adan w5
& ™ sF-a wlew sw ¥ a@ oty et g & o

(1) t—aem (2) F-qldamr
() wE-at Thww @) werg Tl

OP19_A| » DM (Conta-.
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194

For testing the hypothesis that the mean of two normal population
(with common unknown variance) based on a small sample, which is
appropriate test ?

(1) Normal test (2) t - test
(3) Chi-square test (4) F-test

3 T gt % wiedl ¥ ER A9 B uiwer (SEiE S T
THF TET ST 3) % qdaw % Y B uiest w snuha @
0T SUgET § 7

() weEIRr et ) t-lam

(3) W T @) F-uligo

The most appropriate test for testing the hypothesis that the variance of
normal population is equal to some assumed value is

(1) t - test (2) Chi-square test

(3) F-test (4) Normal test

UF YOI GRS F SE6! TER & T% M 79 & awE ¥, 36 IReer
H e H H WA TS SugE TUEw @

(1)t @) @ wdEn

(3) F-Tdae (4) wEE= TdEv

Which is the most appropriate test for testing the hypothesis that
means of four normal populations (with common unknown variances)
are equal ?

(1) ANOVA test (2) t-test
(3) Chi-square test (4) Normal test

o JEEr weAt (Rt UERor U 99 SIS §) % W @l U wEal
F vlaw & A @F-w odae gy Sugad ¥

(1)  ANOVA-9iE (2)  t-a{E

(3) BE-T TUE (4) R A&
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A random sample of size 80 is taken from a bivariate normal distribution.
The coefficient of correlation obtained from the sample is 0.6 to test that
the population correlation coefficient is 0.4 which one of the following
test ?

(1) Normal test (2) t-test
(3) Chi-square test (4) None of the above

T GERSE YRRy & A 80 ¥ R ww frex wewew 9= ¥ ®mn
T ¥ W OTHING WEEE Ul 0.6 ¥ | wE ThEw e b R wm
e & wewey T 04 ¥ firet ¥ ¥ fd @ olew swp ¥

(1) wEEF gde 2) t—ada
(3) WE-aT T (4) =uwd ¥ 9 wig e

A coin is tossed 3000 times. It results in Heads 1385 times. To test the
coin is unbiased, which test is used

(1) t-test (2) Normal test
(3) Chi-square test (4) F-test

T Tqae Bt 3000 TR B ST & T4 1385 B9 (heads) IR Sam & Ryt
SFTI=TA ¥, 39 Hed & Gl % R PH-a1 T & Sqan w7

(1)  t—aligo | (2) wgEFa e
(3) FE—a gl 4) F—adaer

To test the hypothesis about equality of two variances of two normal
distributions. Which test is used ?

(1) Normal test (2) Chi-square test
(3) t-test ' (4) F-test

T YEHT HafE F wERe & UH GOE en R uRemewn @ TdEm o)
% T P-w wlamer @ g s ?

(1) wera gl () wE-aF gl
(3) t—uliEm (4) F-aiem
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198 Which one of the following test is used as test of goodness of fit ?

(1) Normal test (2) Chi-square test

(3) ttest (4) F-test

e g & R ReAfeted ¥ @W-w olan wge e ¥
(1) a9 e (2) wE-=t ql&

(G) t-aAE (4) F-udiEmo

199 A critical region provides basis for
(1) aceepting Hg
(2) rejecting Hy
(3) no decision about Hj

@) all the above

HikE & €9 @B SR A §

(1) H, e & @R b & ol

@) H, e w ader 5 6

G) W, whaw & orwta B @ P @ W % R
(4) SulEd g

200 In the context of & (9, 02) select the simple hypothesis
(1) n=0 (2) p=0,02=1
G) pu=006%>1 (4) n=062<1
Th YR AR N(B,GZ) F ded # wew wheer g
(1) n=0 (2) pn=0;06%=1

B n=007>1 @ p=002<l

OF15_Al 62 ITTIUIMONY (Coned.



SPACE FOR ROUGH WORK / %= &/ % o e

0P A & BB (Cone.-



SPACE FOR ROUGH WORK / = ¥ % o4 @

SNSANENENE NS

N

® ®
NN

Z0\

°
770\

2\

OP19_A] 64 AN AU



